10th — Science — PTA Question — 1: Answer Key

PTA Question - 1 Answer key
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14.
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19.

20.

21.
22.

PTA — Model question Paper —1

PART -1

1. ¢) change of momentum
2. C) remains same

3. d) glass > water > air

4. ¢) carbon dioxide

5.a) 17

6. b) deliquescence

7. d) canine

8. b) thalamus

9. a) mitosis

10.
11.
12.

a) radio-carbon method
a) May 31
a) script area
PART -l
Unit-2 : TB Pg.no: 30

Unit-6 : TB Pg.no: 89

WTS Guide Pg.no: 25
WTS Guide Pg.no: 85
Unit-10: TB Pg.no: 153 ~ WTS Guide Pg.no: 130
Unit-11:TB Pg.no: 171 WTS Guide Pg.no: 141

Unit-12 : (Inside TB.Pg.no: 174) Vascular bundle :
Xylem and phloem tissues are present in the form of
bundles called vascular bundles. Xylem conducts
water and minerals. Phloem conducts food
materials.

Unit-14 : TB Pg.no: 215
Unit-16 : Inside Pg.no: 235

rl'

WTS Guide Pg.no: 177

The person shown in the figure is suffering from
goitre. Itis caused due too the inadequate supply of
iodine in our diet.

Unit-18 : TB Pg.no: 272

Unit-22 : TB Pg.no: 327
Unit-1 : Given data :

Acceleration (@) =1.8ms?  m=50Kkg

If Lift is moving downward with an acceleration
'a’ then the Apparent weight is , R=m(g-a)

R=50(9.8—-1.8)=50x 8
So, Apparent weight is = 400 N

WTS Guide Pg.no: 225
WTS Guide Pg.no: 266

PTA - wrglfl aflemsgmer — 1

R T A

10.
11.
12.

13.
14.
15.

17.

18.
19.

20.

21.
22.

uggl — 1
&) 2 b5 LIBBID
@) rBBLOeLEN6EV
F) SHeuileNTly > BT > SMBml
®R) SMTUCIIENL HHNF B
) 176ugl
3l) FJD 2 n5lehdlHHemyaHe0
) Camemyll Lisd
) FHEVTLOETL
3l) ol LTdlerd
3l) Crg@uir smitue (Lpemm
S1) G 31
a1 Script area

ugdl — Il

SIVG-2: Lss etemi: 30 WIS Lietemr : 26

SVG-6: L)55H ctowr: 88 WIS wv.ereor - 88

SYV&-10: 11555 eteoor: 151 WTS Li.e61e00r : 134

SYv@-11: 11555 eter: 167 WTS ieteo0r - 147

@¥ev@-12: Inside TB.Pg.no: 171

CUTGTOEHGVT] BT : 6DF6VLD LoD LJCITTLILD
BIFHBMNED  CIBTRT BN BIDBEBT UTEYVEH VI
BBDBBET 6TMLIIBID. 6DFGVID [B LD
BEONNDBIBENENT BL_HDIBIBDI. LCENITUID 2600t ]
GULITIBETTBEN6NT Bl HSHIBIBE.

SIVG-14: 1555 eteor: 211 WTS Lreremr @ 183

DIVG-16: 2 _611155% oT6vii: 232

ﬂ'.
)

%

a

LSS0 2_61I61T [BLISHILI LITSHIGSHINET &6nBLIT(H
6T BITULILLY. 2 _60016)le0 GHemedULITeT Di6rT6Y
SICuimigedr BeVeVTHHT6V GIBLIBBIBLI.

SYV&-18: 1555 eter: 271 WIS wieremr : 237

SV&G-22: 11555 eteor: 327 WIS 1ietemor - 281
SIVG-1: CIBTBSSBLILIL L 616):

WBSHD = 1.8 15 plew = 50 &)@, 10015T1SD]
@’ a1y (wpBSHE WA B [BBFBIBEI 6T,
Commm e16mi_

R=m(g-a)=R =50(9.8-1.8) =50 x 8
G esm. =400 N
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10th — Science — PTA Question — 1: Answer Key

PART —IlI
23. Unit-1: TB Pg.no: 14 WTS Guide Pg.no: 8

24. Unit-3 : i) The ratio of increase in length of the body
per degree rise in temperature to its unit length is
called as the coefficient of linear expansion.

Unit-3 : ii) AL= increase in length, AT =323K- 303K =20K

Lo (Original length)=50m, & =23 x10°K™!

AL
—=aL AT
Lo

AL = o AT x Ly = (23 x10%)x20 x 50 = 0.023
25.

Unit-5 : i) and ii) TB Pg.no: 72 WTS Pg.no: 75

26. Unit-7 :

Unit-8

i) TB Pg.no: 104 WTS Guide Pg.no: 100
i) TB Pg.no: 122 WTS Guide Pg.no: 111

27.Unit-9: i) TB Pg.no: 135 WTS Guide Pg.no: 120

Unit-10 :ii) TB Pg.no: 154 WTS Guide Pg.no: 133

28. Unit-20: i) TB Pg.no: 298 WTS Guide Pg.no: 246

Unit-21 :ii) TB Pg.no: 312 WTS Guide Pg.no: 255

29. Unit-15: TB Pg.no: 228  WTS Guide Pg.no: 191

30. Unit-13: i) TB Pg.no: 198 WTS Guide Pg.no: 164

Unit-17 :ii) TB Pg.no: 258 WTS Guide Pg.no: 215

31. Unit-19: TB Pg.no: 283  WTS Guide Pg.no: 236

32. Unit-8: i) 18" group elements (or) ‘0’ group

elements - He, Ne, Ar, Kr
Unit-11: ii)
Ethene has a double bond, which is

comparatively unstable when compared to
ethane. Thus ethene is more reative than ethane.

PART -1V
33A. Unit-2: i)

b 4

uagl — 11
23. ov@-1: 1555 etemi: 13 WIS Lierer @ 8

24. oI6v@-3: 1) UV Gl IBlewsv 2_wijeuTsd GLITgBe1 o
BMSHD GHUBLD WOTHBSSBSID QIVS BNSHHIESID
2 ot H&6) Mo Geulis afifley GeABID HSHLD.
vg-3: 1) AL= Benb&ed giuBIDd 1omBBLD,
AT =323K- 303K = 20 K, o, =23 x106K?
Lo (2_ewieniowimen enid)= 50m
A—LZOCL AT
Lo

AL = o AT % Ly= (23 x10%) x 20 x 50=0.023
25. @ves-5: 1) i ) 1g55  etevr: 72 \NTS Li.e76007: 77

102
114

26. oyov@-7: )1yo555 etemr: 103 WTS  1i.6m6007
Ov&-8: )555 eremr: 119 WTS wietemr -

124
138

27.960@-9: o555 etemr: 132 WTS  Li.ere00r :
VG- 10: \)ys55 etemr: 151 WTS 11616007 -

260
270

28. 0@~ 20: 1)y555 etemi: 297 TS 11676007

V&-21: ) 555 eremr: 313 WTS  Li.etem7

29. 9508 15: 1555 oo 225 WIS rieremr : 197

171
225

30.9mv@-13: ) y555 oremr: 195 WTS  Li.er6007 -

v&-17- )55 etemr: 255 WTS  Li.e76007 -

31.96v&-19: 1555 etomr: 283  WTS wieremr : 250
32.9/6V@&-8: 1) 186Ul QBTGISH SONOBIBET (DIEVEVS])
yoius Ceress seanwsiser- He, Ne, Ar, Kr

SIv&-11: i)
FHHEN60 aIelenOEHmBHS L 6wl Ceudi i leneuori iL |
BQHULSTE DIFH6N HlemevliLiGHgeiento FéBHemenelL &
Goome). e1en@an  FHGHemeneNl e  elemendiment

10&BHSH.
ugad — IV
33A. 9vE-2: i)

®
C2

A

’L‘: s 42F2

A —4
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10th — Science — PTA Question — 1: Answer Key

33A. ii) Unit-2: Name of the defect - Myopia also
known as short sightedness occurs due to the
lengthening of eyeball. With this defect nearby
objects can be seen clearly but distant objects cannot
be seen clearly. This defect can be corrected using a
concave lens.

Unit-6: iii)
UZ}S

92

X'+ He'

a decay %0 ,

_—
Number of neutrons
= mass number - atomic number
=231-90=141

33B.Unit-4:i)ii)iii) TB Pg.no: 57 WTS Guide Pg.no:56
Unit-4: iv) TB Pg.no: 57 WTS Guide Pg.no:57

34A.Unit-8: i) TB Pg.no: 123 WTS Guide Pg.no: 112
Unit-11:ii))TB Pg.no: 171 WTS Guide Pg.no: 144

34B.Unit-9: i) “Like solvent dissolves like solute”
This expression means that dissolving occurs
when similarities exist between the solvent and
the solute.
Polar Compounds are soluble in polar solvents-
Ex: Common salt is a polar compound and
dissolves readily in polar solvent like water.
Non-polar compounds are soluble in non-polar
solvents - Ex: Fat dissolved in ether. But non-
polar compounds, do not dissolve in polar
solvents; polar compounds do not dissolve in
non-polar solvents.

34B.ii) Unit-10 :

Decomposition :2 KCIO; — 2KCI + 30,
Potassium chlorate is decomposed as
Potassium chloride and Oxygen.

Single Displacement:Zn+CuSOs— ZnSO4+ Cu
Zinc element displaces copper in copper
sulphate and forms zinc sulphate and elemental
copper.

Combination: 2 Mg + O, — 2MgO
Magnesium combines with Oxygen to form
Magnesium Oxide.

Double Displacement:

Na,SO, + BaCl, — BaSO4 + 2NaCl

Sodium and barium interchange its position to
form barium sulphate and sodium chloride.

33A. i) Sva-2: GemmLm geir Gy - @@L ILT
TG0TLIG B LLILITTomeY  6TenllIipD. B&I NS CHTenmDd
s Boih NBUSTEO GHLBESI. BBV SYBEH6V
2 6161 GLITIE6NTEMeNS GIBEIIUTS  BTGHTUPIQUILD. Y 6TTED
CBTemevalsy 2 _aiTeT  GLITIFEITHEWET  BITGRTLPIQUITS/.

S&hS GG  CBHTemevey  GBTeI.  GHIGVeTeNFL
LIRSS FRGFU ILIGVTLD.
QIVG-6: iii)

WU o Aensa WX+, He*

Blul greiiaeedr  eTevTentdbemad
= Henm 6l6wl - DigW) 6T6uT
=231-90=141

33B.opv@-44) i) iil) ys55 eremr: 58 WTSieremr : 57
VG4 V) 155 erewr: 58 WTS rretemr : 58

115
151

34A. o6v&-8: \\ysas eremr: 119 WTS 161607 -
Dv-11: 1) 1555 eremr: 168 WTS 1616007 -

34B. o9 1) ‘@b BWCLITGL BT P55
BENJLILITGN6D BT HIBS”
SHMIELTHEHHSD HMILILTIGGID HemL Gl gimienio
STemILIBD CUTH HTel HMIHED HBHLBEME.
(peneTSYLID GCFFLOBIBET (LPeDETSYIUD FH6MTLILITEED
6TENBID  BEDTBIBI.

6LBT : FeMOWEL 2 (1] (psweiieymid GFjo  ereurGeu
BFH  (pwUOBID  HwILLTETEN By  elaMled
SHMJEBSI.

(pEDTYDBISF CFJLOBIBON (LPEDCTEYDT BEDTLILITENE)
611DV BT BB,
6L.BT : FHfl6D SMIHBULILL QBTIDLIL.  SUeuIT6D,
WpeweueBTF CFTLOMISET (LPENeNBILD SHENFLILITEN6D
BHMIEUF6VMEV. DIFHICLITEV, (LpsweeBID CFTLomIH6IT
(LPEDEMBT HMILILITEND HMT6IZ606M60.

34.B. i) owve-10 -

Aoy ofeweor : 2 KClO3 — 2KCI + 30,
Qum’_Lmrduwib &Bemm@yL_ GFiyLDLOT 6O
Qum_Lrdwid &Cenmeny®B  LBBID  dHendesi
APEVBIDBIHENTS  FeNHEUeNL P B,

Quienm @ LGliisd: Zn+CuSO,— ZnSO4+ Cu
2Ahib SHoD HTULY F6v. B 19edhha STLLIeD]Y
BLiCuwFFS  QFuig hib  FeoGUL  LBMID
ST HNDHMB 2_(HUTHGHB MBS

Coidems  cXlaner: 2 Mg+ O, — 2MgO
QLoébaidwip, A HerImenIL 65 QenembE
QodefFuID PHMENDL & SHHBMSI.

Sy L. G LG nLFSH:

Na,SO; + BaCl, — BaSO, + 2NaCl
@Ggmguib LOBBILD Guifluub SIUWIEHB6IT

AL QuugFfwmeusmed  Guifiud  Fs06LL.  OBBID
Camouid &Genmeny® 2_HUTH MBI
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10th — Science — PTA Question — 1: Answer Key

35A.Unit-12: i) TB Pg.n0:185 WTS Guide Pg.no:158 | 35A. syevg-12: 1) WTS Li.eremr : 164
Unit-14:ii)TB Pg.no: 214 WTS Guide Pg.no: 176 Sev@-14: i) 555 etemr: 211 WTS  Lietemr : 182
Unit-20:iii)TB Pg.no: 298 WTS Guide Pg.no:247 DV&-20: i) 555 etemr: 297 WIS Li.etemr :260

35B.Unit-22:i) The 3R approach such as Reduce, | 35B. @wvg-22: 1) sfieyzssmwer  Fpiwmsr  upsopuied

Reuse and Recycle may be followed for wawrenasns 3R wpow gppsrew. Reduce
effective waste management. -Gomwsse0, Reuse - wmwsirp, Recycle
LOYFHLBS.

Unit-18:ii) Sv&-18: i)

a) Helicase - Inside TB Pg.no:268 =) CawaI@serd - YE&s s 266

b) Topoisomerase - Inside TB Pg.no:268 @) CLrGregGenGlo@rsrd - 11555 e 266

C)DNA Polymerase- Inside TB Pg.no:268 8) w.eree LITIGGID - LSS oTemi: 267

d) DNAligases - Inside TB Pg.no:268 7)) 19.67601.6] weVBHETD - LjSHB 6lel: 267

e) Terminuslinside - Inside TB Pg.no:268 2 ) GLindersrd - UGBS eTeml: 267
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10th — Science — PTA Question — 2: Answer Key

PTA Question -

2 Answer key

PART - |
1. d) bifocal lens
2.b) 10 Q (Hint : R=5+2+3 =10 Q)
3. ¢) number of proton increases by one
4. a) thermal expansion of liquids
5. b) A- 11, B-1V, C-1I, D-1
6. ) oxygen gas is utilised
7.b) Ais xylem, B is phloem
8. b) pituitary gland
9. a) secondary constriction
10. b) restriction endonucleases
11. a) hydropower
12. b) Script editor
PART -II

13. Unit-3 :TB Pg.no:40 WTS Guide Pg.no: 40

14. Unit-4 : Two 5Q resistors are connected in series
which is parallel to 10 Q resistor.

Rs=5+5=10
10 10 10 5

15. Unit-5 : TB Pg.no: 71 WTS Guide Pg.no: 71

16. Unit-8: TB Pg.no: 122

17. Unit-13 :TB.Pg.no: 198
18. Unit-15 : TB Pg.no: 227
19. Unit-17: TB Pg.no: 258

20. Unit-19 : TB Pg.no: 283
21. Unit-21: TB Pg.no: 312
22.Unit-9 :
Compound A - Magnesium sulphate heptahydrate
On heating it becomes an anhydrous salt MgSO4
by losing 7 water molecules.
Green vitriol - FeSOs. 7H.O having 7 water
molecules which is equal to number of water

molecules lost by A.
heating

WTS Guide Pg.no: 111
WTS Guide Pg.no: 165
WTS Guide Pg.no: 189
WTS Guide Pg.no:216

WTS Guide Pg.no: 234
WTS Guide Pg.no: 255

MgS0,. 7 H,0 - » MgSO, + TH,0
Cooling '

PTA — Model question Paper —2

PTA - wrglfl aflemsgmer — 2

uEgd — 1

1. ) @m&elw Gevsia

2. &) 10 Q (Hint: R=5+2+3 =70 Q)

3. ®) YGymlLmeiimermedn ereniTenNdBeNBUIE GEIBI
AR BRBGD  (INTEHBTNMY HUPTS  EHDBUID
6160 OMBT(BSBLIIL (BorToNH])

3l) FHreuniserien Geulieifley

o) A- 1L, B-1V, C-11, D-I

®) ousFmen euru] LWeTLGSHSHILGSBSHI

o) A - engeold, B - yGemmuid

o) Wiugl L fl &l

D

SI) GJERILMIDBeN6VF Fi(HHHID

10. &) Oyervl_flaervsir erewTGLTHILLSH6TGuisrd
11. o) BT = bBmeL

12. =) Script editor

ugdl — Il

13. ov@&-3: L&&E oteomr: 41 WTS wr.e600r - 41

14. opa4: Qe XD WeaisewL seT GBI

Beweoort 60 BemevnbBLIL B Lier, 0 QO
OG0B 60T DememoTUITS BemeooTbBLILIL (BETT6NS.
Rs=5+5=10
Rp—10+10 10 5 >Q

15. Sp6v&-3: HBEI PeVEFamIEeien HFlTebelen eiFs
HIe  PELBIBIBMET L. DHBIOTEH 2 6iT6NG).
SIGHEMEL BFDLIL LTHHTHMSNIL HTeOUITS 266

UTSETHSH0 PeOITEIDHI AHB D66 2_[HEUTEBI.
16. S6v&-8: L&55HS ereor: 119 WTS wr.e6007 : 114
17. oyv@-13: 11555 eremi: 195 WTS rrer6007 : 172
18. ov@-15: 1655 otewr: 224 WIS Lierer : 195
19. ov@-17: 1555 etewr: 255 WIS Lieremr : 225
20. OVG-19: 1555 oo 283 WIS wretemr : 248
21. ov@-21: 1555 orewr: 313 WIS wr.etemr : 269

22. S6v@-9:
@airiotd A - Qudefflwid F608ul. GamiiTenamt Gy
CauluGHHID Curgl 7 BT (peuHInBIHmeT SIDHE
MQSOs steti3  BIBmB 2 (uTs  WIBIEBE.  UFmF
ol flwfedsd o eiten — (FeSO4. 7TH20) 7 ©y
APEVBHFnDIB6I6  eTenTenldemaWLDd CFTD A @HdH
B (LP60SHIBIH6I60 616060l heNGBULD FLOLD.

heating

MgS0, THO - » MgSO, + THO

Cooling
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PART —IlI
23. Unit-3 : i) False. According to charles’ law at
constant pressure, temperature of the gas is directly
proportional to its volume.
ii) a) Scalar  b) temperature
24. Unit-4 : i) Inside TB Pg.no: 43- a-iii, b-i, c-iv, d-ii

25. Unit-7 : i) TB Pg.no: 104  WTS Guide Pg.no: 103
Unit-11 : ii) TB Pg.no: 171 WTS Guide Pg.no:141

26. Unit-9: i) TB Pg.no: 135 WTS Guide Pg.no: 123
Unit-10: ii) TB Pg.no: 153 WTS Guide Pg.no: 129
a) Neutralisation reaction
b) Thermal decomposition
27.Unit-8:))H=21;Na=1;F=4
Electronegativity of HF =4 - 2.1=1.9
The difference is greater than 1.7, the bond is ionic
Electronegativity of NaH=2.1-1=1.1
The difference is less than 1.7, the bond is Covalent

Unit-11 :ii)a)

ot s>

Functional group
- COOH

5 Carbon atoms

CH,CH,CH,CH,COOH
b)
CH

3

I
CH,- C - CH,- CH,

I
OH

2 - methyl

butan

2 -0l

28. Unit-14:1)TB Pg.no: 215  WTS Guide Pg.no: 177

29. Unit-16: i)TB Pg.no: 241  WTS Guide Pg.no: 202
Unit-18:ii) TB Pg.no: 272 WTS Guide Pg.no: 225

30. Unit-20: i) TB Pg.no: 298 WTS Guide Pg.no: 245
Unit-22 :ii) TB Pg.no: 327 WTS Guide Pg.no: 266

31. Unit-14 : i) TB Pg.no: 215 WTS Guide Pg.no: 178
i) TB Pg.no: 215  WTS Guide Pg.no: 179

32. Unit-2: i),ii) Inside TB Pg.no: 26 (Diagram 2.18)

uggl — Il
23. Sv@-3: 1) Souml. Fjeverd B iig oTmIT
DYUPSSSHHID 26T 6uTLfsD  GCleYLILiBlensy
LgpLoenibes GBI H&0M6D DIenIOUJID.
i) @) ev@sevmy ) Goulniplemsv
24. opve-4: 1) ysss 2 eniierenr 44
oHil, oy, @iv, i

25. opve-7: 1) ysss erewr: 103 WTS  wieremr : 105

eve-11: ) ysss semr: 167 WTS  w.etemr - 147

26. owve-9: 655 etemi: 133 WTS w.etem7 -
v-10: )y555 etevr: 150 WTS w6607 -
) BGHBIDVUITSSED  )lemeor
&) CeuiFHsmsey eilensor

126
133

27.9v5-8: )H=21;Na=1;F=4
HF —6i1 eteusbl_gmedt &euit seitemioulen wding =4 -2.1=1.9
1729 el oiFHsb eafled Sig SiweiiNeneori
NaH —6i1 1601l et BeuT Hevtewioulednr iy =4 - 2.1=1.9

1729 el oiFs eafled igh Falilenemri]

eve-11: )=y

5 &MUl SgRId Helr
eflmand Qawed QBTG )

~COOH
CH;CH,CH,CH,COOH
<)
CH, 2 - Qg &led
| A
CH,- C - CH,- CH, —— Huran
|
on 2 - 60
28. 0@ 14: )y655 eremi: 212 WTS rreremr - 183
29.96v@&-16: )1j555 ereor: 238 WTS wrereoor : 210
Dv@-18: W) 555 ereor: 271 WTS wreremr : 237
30.90@-20: \)y655 etemr: 297  WTS w.etemr : 259
Dv&-22: W) ys5s etemr: 327 WIS wieremr - 281
31.0/6v@-14: 1) 1555 otemr: 212 WTS  Lr.er6007 :184
i) yo5® ere00T: 212 WTS  rr.e600r :185

2.yv@-2: ),ii) ysss 2 e : 26 (Lw-2.18)
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10th — Science — PTA Question — 2: Answer Key

W=mg=70 x 1.625 =113.75 N
iii) WTS Guide Pg.no: 19

33B.Unit-5: i) Inside TB Pg.no: 67(Problem-2)
Unit-6: ii) Inside TB Pg.no: 82

PART -1V ugd — IV
33A.Unit-1: i) For the comfort purpose, shock | 33A. Sv@g-1: 1) COFrsar  CUbbSIs6eD
absorbers are used to absorb or damp the shocks DBy LIEHF BT CoHemeuLimm SIBT6)BM6TT
or unwanted oscillations of the bus due to 2_lehFbCBTemIB [BLOHID LITSISBTSBSI.
damaged roads. i) W=mg=686N
i) W=mg=686 N m=ﬂ=ﬁ=70kg
w 686 g 9.8
m = —=—=70Kkg
g 98 W=mg=70 x 1.625=113.75 N

iil) WTS  r.em607 : 20

33B.9pv@-5: 1) yss5 2 eiiieremr - 68 (Problem-2)
QVG-6: 1) L&5H 2_en.Li.etemr . 82

Unit-8: ii) Second most abundant metal, A = Iron

When steam is passed over red hot iron,
magnetic oxide(B) is formed.

3 Fe + 4 H20 (steam) »FesOs+ 4 Hz 1
B = FesO - magnetic oxide

C=Nickel steel (Fe,C,Ni) it is used to make
aircraft parts and propeller.

35A.Unit-13: i) TB Pg.n0:198 WTS Guide Pg.no:164
Unit-16:ii) Inside TB Pg.no: 238
Unit-17:iii) Inside TB Pg.no: 248

35B.Unit-19:i) TB Pg.no: 284 WTS GuidePg.no:237

34A.Unit-7: i) TB Pg.no: 104 WTS Guide Pg.no: 102 | 34A SI00&-7: )ysgs sz 103 WTS Liasor : 105
Unit-9: ii)TB Pg.no: 135 WTS Guide Pg.no: 122 oG9 1) ysse o 133 WIS Liermi : 126
34B.Unit-11; I) 34B. VG-11: |)
Name of the Functional GFmoHHein A . eneFOFLI6O
compound Structural formula group present @i Sieioliy amiLLTG OsT&GH
CH3;—-CH-CH3 -OH CH3z - CH —-CHjs -OH
Propanol o |I_| LGy ILIGnTeD |
CHs—C—H o OH
Ethanal I I CH;-C- H o)
0 —_C-H 61855 Beur6D I I
0 ~C-H
@]
Butanone I >C=0 O
CH3-CH2-C - CHs LTugt L Gevrmedt ] >C=0
Butanoic | CH-CH,-CH,-COOH | -COOH | CHsCH-C-CHs
acid dutLemuis | CHa-CHp-CH,-COOH | -COOH
Sifevid

Unit-22:ii)TB Pg.no: 327 WTS GuidePg.no:269

IIVG-811) SINLSHHSG DIBSH, 105 DFHBLONS
yiufsd snemiuB 2 Geonsd A =@IDL WGLD.
CFeh@HOLBPRW  @milenr 1651, ByTelsnwl UTUIFSHD
Bunal Guwsean 19s sme®B(B) 2 mandng.
3 Fe + 4 H20 (syref) =>FesOs+ 4 H2 1
B = Fes0 - Gusai i9s ousms®
C =fsss0 @mioy (Fe, C, Ni) 831861 afliorenggesr
UTSRIB6T IOBOID 2 pHAsem Suimfinied
LwIeTLB A BSI.
35A. Y- 131) o5 eteoir: 195 WTS Liereoir @ 171
vG-16: 1) G55 2 _6riierenr 235
v@-17: i) 1555 2_6irLt.erem7 . 245
35B. opv@-191) o555 oremir: 283 WIS Liereoor @ 250
DV&-2211) 1555 ereomr: 328 WIS wietemr : 284
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10th — Science — PTA Question — 3: Answer Key

PTA Question -

3 Answer key

PART — |
1. ¢) a parallel beam of light
2. d) all the above
3.¢) lead
4.¢) 2CO(g + Oz~ 2C02 (g
5. b) linear chain hydrocarbons
6

. a) the attractive force of nucleus is more in Na* ion
than Na atom

7. b) mitochondrial matrix

8. a) active transport

9.c)bothaand b

10. ) 9:3:3:1

11. d) obese (Hint : Other 3 types are about Type-1 diabetes mellitus)
12. d) scratch

PART -II

13. Unit-1 : a) Both the assertion and the reason are true
and the reason is the correct explanation of the assertion.

14. Unit-2 : TB Pg.no: 30 WTS Guide Pg.no:25
15. Unit-7 : TB Pg.no: 104 WTS Guide Pg.no: 100

16. Unit-10 : pH scale range is 0-14.where 0-7 is
acid,7 is neutral and 7-14 is base. decreasing pH
increase in acidic character.
pH of a solution is zero means,

-log [H+]=0
[H+]=1
The concentration of hydrogen ion is 1. So it's
highly acidic solution.

17. Unit-12 :TB.Pg.no: 185  WTS Guide Pg.no: 154

18. Unit-13 : The sweat glands and sebaceous glands
embedded in the skin regulate the body temperature.

19. Unit-15: i)TB Pg.no: 227 WTS Guide Pg.no:188
i) TB Pg.no: 227 WTS Guide Pg.no: 188

20. Unit-19 : TB Pg.no: 283 ~ WTS Guide Pg.no: 234

21. Unit-20 : d) Both Assertion and reason is wrong.

PTA — Model question Paper — 3

PTA - worglfl aflemsgmer — 3

uggl — 1
1. @) SnHBBNBHMENT 2 (HOUTHGHLD
2. F) Bme DMNSHHILD
@) @smfuwib
@) 2CO() * Oz — 2C0Oz(g)
1) Crymen FRISISEOHTLT emaml Gyr SmTLICIEH6NT

A

o

) Nat owelulsd 2 I smele sajsd alams
Na sigmemer el HgHsib.

3

. o) ool BLramem_fuwimeledr o 1 1L (erol_Gymiom)
8. o) GQFwed @ HLSHHIHO
9. @) o wBBID &

10. &) 9:3:3:1
11. #) 2 1L 60 u@edr (Hint:wps 30 euend-1 enLwmLIgerd
OLO6VEIL_61V)
12. ®) scratch
ugg — 1l

13. owv@-1: 9 Fmmy wHyd Srjewd e bld
Ffl. Cosnd Smgewrid FmmmbeG FIULITET GBI,
14. WTS 676007 : 25

WTS  Ls.676007 :

IIVS-2: L5H5H& oleol: 30

15. Yv&-7: L5sH&E elevir: 102 102

16. ov@-10: PH walny 0-14. 0-7 sudeviiseniy,
7 BBBlewev, 7-14 Bmjsseienn Gsmemit &l PH sy
GOBUND CLITSHI DHOVESHOTNID DBHIB[ISBBS/.
PH &y & stemms,
-log [H+]=0
[H+]=1
meBL Jegeor  Sfieoilufenr GFnfley 1. e1em1Bey  DHB
DINLVSBEILD  CMBITE0TL BT EHLD.
17. ov@-12: 1555 ereoi: 182  WTS  Liereomr : 160

18. Sy6v@-13: pweissr 2 L 60 Gyl ILBlensvemL]
Lgmiofiés  efliijene oMmID 616007 GleoTLT FHTLI IB6T
2_F6)Blevmen.

19. v@-15: 655 eremr: 224 WIS wiereor : 194

i ysbas eromr: 224 WTS  1r.61600r : 194

20. HovG-19: 1)55E etemr: 283 WIS Lietemi : 248

21. OVG-20: F)FBA LOBBID BTFewrd @ewibLd Hedm
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10th — Science — PTA Question — 3: Answer Key

22. Unit-4 : Let length of single part be L' = é
R’:p_uzﬁzﬂz E:lQ
_ A 54 5 5 )
Effective resistance in Parallel connection,

—=—t—F—+—+=—=2=5Q
Rp R R R R R R
Ry =£=02Q

PART —11|

23. Unit-1 : i) Weight of a body varies from one place to
another place on the Earth since it depends on the
acceleration due to gravity of the Earth (g) weight of a
body is more at the poles than at the equatorial region.
So the apples weigh more at poles than at equator.

Unit-2 : ii) TB Pg.no: 30 WTS Guide Pg.no: 25

24. Unit-3 : i) Inside TB Pg.no: 39(Example —2)
Unit-5 : ii) a) Infrasonic
b) Application of Doppler effect

25. Unit-6 : i) TB Pg.no: 89  WTS Guide Pg.no: 87
ii) Control rods : Used to control the number of
neutrons in order to have sustained chain reaction.
Ex : Boron and cadmium rods.

26. Unit-8 : i) Dilute or concentrated nitric acid that
renders aluminium passive. Because, it does not
attack aluminium, but it renders aluminium passive
due to the formation of an oxide film on its surface.

Unit-10: i) TB Pg.no: 153 WTS Gui de Pg.no: 132

27. Unit-7 : i) Ais correct, R is wrong.
Unit-11:ii) TB Pg.no: 171 WTS Guide Pg.no: 142

28. Unit-13:i)TB Pg.no: 199  WTS Guide Pg.no: 166

29. Unit-15:1)TB Pg.no: 227  WTS Guide Pg.no: 190
Unit- 18: ii) F; generation

T t
t| Tt |t
t [Tt |t

Genotypicratio=2Tt: 2tt=2:2=1:1
30. Unit-17: TB Pg.no: 258 WTS Guide Pg.no: 217

31. Unit-20:i) TB Pg.no: 298 WTS Guide Pg.no: 246
Unit-21:ii) TB Pg.no: 313  WTS Guide Pg.no:257

oA . _ L
22. VG4 @ LTHHIN6 Herid, L= S
, L L _R 5
R:p_:p_:_:_zlg
A 54 5 5
ubss Semewililed QHT@GLUIT LOl6THML,
i=i+i+i+i+i:3259
R, R R R R R R
1
Rp =§:0'2Q

ugd — Il

23. oyev@-1: 1) yalwin wpBsswaiiny Lol B s5EH&
B 1D 1oTRIIBNBTEV, 6Tl UJdT 10BNND Bl HHBS B 1D
LOTILIBID. Glumgpt_ &efleor 6T6mL_ DIBAIIIGSHLI6D
SYBIBIOTHYD,  [BOVBBSCHTL BLI  LIHUT)  HemmeuTEad
B  oeGsy  BBBECHET Bl USHew el
DIBAINIGINID DL T61fleor 6TemL. DB BLOTH B IBSHELD.

SIVG-2i1) LjG5HE  stemr: 30 WTS  Li.eremr : 25

24. opve-3: 1) ysss 2 _siri.eremr . 39 (r.&T — 2)

DYVG-3: 1)) GHemed
&) Laemr eXlenerisdledr LiLIGTLITE

25. owves-6: 1) Y55 eremr: 88 WTS wreremr : 90
i)  &LEUUGSSND BIOE6IT: QMBI ferlsmermis
BlweVBSS]  BIULL FTeis e 60 6T6O0T6001 1 6m B 6L I
B (BULIBSBINBBHTHL  LILITLIESDHLILIBB|SBI.

61.IT : GUITFTei LB ST LD BHIIBT

26. ov&-8: i) DIVIALIS DB CFwsvLIL THleweVS S

2 1 LIBSSINSG] B OBMID D[ bl [fiE Dlevd YeLo.

I Glearsaflsv, 8ps ofsvid DI OeoiL15HBCHT (B
eXilemeorL jfleybHleVensv. LOMmTS HeIDleoflLigDlear CLosy 24&6mF B
LL6VD 2 (56UTeYHIT6D, BT eweriBlD  Hleor
BOBSHBLILIBB)DSI.
V&-10: \)ys55 etemr: 151 WTS w.etemr : 137
27. syva-7: )A &, R somy
ov&-11: )ys55 eremr: 167  WTS Lietemr : 148
28.yv@-13: 1) y5565 eremr: 196 WIS Lietemr - 174
29. 0@ 15: \ys55 eremr: 225 WIS rreremr - 196

ove5-18: 1) F1 semevupenm

T t
t | Tt |t
t Tt |t

Domids olpp =2Tt:2tt=2:2=1:1

30.9v&-17: 1555 etemir: 256  WTS riereor : 227

WTS Ls.61600r :260
WTS  ws.616000 271

31.96065-20: 1) 1j55E sTevir: 297
VG-21: i) 555 etemr: 313
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10th — Science — PTA Question — 3: Answer Key

32. Unit-9: i) Mass of solute (sucrose) = 10g
Mass Percentage of solution = 10%
Let, Mass of water = x

So, Mass of solution = x + 10
Mass of the sloute

Mass % = — x 100
Mass of the solution
10 = X 100
x+10
X +10 =100 g

Mass of water = 90 g
Unit-10:ii) Inside TB Pg.no: 141

PART -1V
33A.Unit-1: i) TB Pg.no: 14 WTS Guide Pg.no: 11
Unit-2: ii) Inside TB Pg.no: 27

33B.Unit-5: i) Inside TB Pg.no: 60
Unit-4: ii) Inside TB Pg.no: 53 (Figure — 4.12)

34A.Unit-8: i) TB Pg.no: 123 WTS Guide Pg.no: 112
Unit-11:ii))TB Pg.no: 171 WTS Guide Pg.no: 142

34B.Unit-7:i)Mass of NH; produced = 1000kg=10° g
molecular mass of NHs=14 + (3 x1)=17¢g

mass of NHz produced __ 10°

No of moles of NH3 = =
molecular mass of NHz 17

2 moles of NHjs is produced from 3 moles of H;
6 6
% moles of NHjs is produced from % X % moles of Hy
Required Mass of Hz = no of moles x molecular mass
6
:% x; X (2 x 1) = 176.47 kg of H,
2 moles of NHs is produced from 1 mole of N
g moles of NHjs is produced from % X % moles of N
6
Required Mass 0f No= 2= x = x (14 X 2) = 22 x 106
17 2 34
= 0.82353 X 10° g =823.53 kg of N

~ Required mass of Nitrogen gas = 823.53 kg
Required mass of Hydrogen gas = 176.47 kg

Unit-10: ii) Faster Reaction - Digestion of food
slower Reaction -Rusting of iron
35A.Unit-14: i) TB Pg.no:215 WTS Guide Pg.no:182
Unit-15:ii) Inside TB Pg.no: 220

35B.Unit-16:i) Inside TB Pg.no: 232
Unit-22:ii)TB Pg.no: 327 WTS GuidePg.no:267

32. ev@-91)semrQuUTHeMer Hersiene] = 10 &
semygelst saraiene] = 10 %
bt Mewm X 676075
c1601Gs), BemgFeerr plemm = X + 10
SHMTOLIT(HEIT6HT B0 Di6Te)] % 100

Heniene] % =
Sleriey HMTFGT BV SI6TT6)|
10
x 100

10 =
X+10
x+10 =100 &
pifler Bewm = 90 &)
DV&G-10: ) 1555 2 _e.ii.etemr - 139
ugad — IV

3BA. wv@-1: )ysss eremr: 14 WIS w.etemr - 11

Qv@-2: 1) 1555 2_eieremr - 27

33B.o/6v&-5: 1) ys55 2 eiiieremr - 61

v&G-4: ) yss5 2 eirireremr 54 (L - 4.12)
34A. ov5-8: \)\ysss eremr: 120 WTS rr.et600r : 116
V@G- 111) 1555 erewr: 167 WTS Lieremr - 148

34B. oyevg-7i) GeueuiBio NHz Blenm =1000kg=10° g
NHz-s1 plemp =14 + (3 x1)=17¢g
NHs 2 _siten Gomevaseriiein erevtemildenad =
NH3 Beop _ 10°
NH; Guneosefisn Beop 17
2 Biomed NH3 eyeuig1 3 Gomsd HosOmibg Geueilaumamgl.
6 6
%@m@ Nm%@@]% x z(am@Hzea@b@ CrsfarBDE.
Caxeweuliuid Ho efletr Blewm = Gomsvseisd  stevienildena
X (pe0EH I BIH6NT6TN [Hlenm
:11—0: x3 x (2 x 1) = 17647 kg of H,
2 Gomsv NH3 oyeniasi 1 Guomed Noelhibg Oesilaumamal.

6 6
%Gmrrsb NH; sy % X %(&Dﬁ@ HosOibs1 Geustiourmeinsi.

E
34
= 0.82353 x 10° g =823.53 kg of N
~ Cxrenaulu®Bld Hy aler mlenp =176.47 &&
CaenauluB N eflesr Blenp =823.53

6
Brmain Ny olsr Boon=—— X =X (14X 2) =22 x 10°

Di6v@-10:41) Gouwlons [mem_GLD 6Xlsmer - 2_coois) G0
ClosieuTs [BemL GlLimId eflswer - GBLiL] SHIBLILINIgSSH6D
35A. opv&-141) ysss stemr: 212 WTS 1r.ere00r : 188
Dv@-15: 1) G55 2_sirLieremr 217
35B. @wv@-161) 555 2_ei.ii.eremr . 229
SYV&-2211) o555 oremr: 327 WIS Lieremor : 282
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10th — Science — PTA Question — 4: Answer Key

PTA Question -

4 Answer key

PART -1
1.d) bothaand b
2. d) ohm metre
3. @) more than 83
4. ¢) 25 ml ethanol in 75 ml of water
5. a) increases
6. ) only ii is correct
7. ¢) when H20 is splitted
8.d) bothbandc
9. b) archaeopterix

10. b) diploid
11. a) leukemia
12. a) notepad
PART Il
13. Unit-2 : TB Pg.no: 30 WTS Guide Pg.no: 25

14. Unit-3 : False. Because During the process of
transferring heat energy, the body at lower
temperature is heated while the body at higher

temperature is cooled.

15. Unit-5 : Inside TB.Pg.no: 67 (problem— 1)
16. Unit-8 : TB Pg.no: 122 WTS Guide Pg.no: 111
17.Unit-13 : TB Pg.no: 198  WTS Guide Pg.no: 164
18. Unit-15: TB Pg.no: 227  WTS Guide Pg.no: 189
19. Unit-18:
Genotype Phenotype
The hereditary information of | The characters of an
the organism in the form of | organism  which are
gene in the DNA and remains | visible are known as
the same throughout the life. phenotypes.

It can be determined by
scientific methods.

For eg., Blood group, eye colour,
height, genetic diseases.

It can be determined by
observing the organism.
For eg., Weight, physique,
beak of birds

20. Unit-20 : c) Both assertion and reason is correct

21.Unit-22 : TB Pg.no: 327  WTS Guide Pg.no: 266
22. Unit-10 : Kw = [H*] [OH]
ionic product of water,K,, = 1.00 x 10~*
Conc. of hydrogen ions in water = 1.00 x 1077
Conc. of hydroxyl ions in water = ?
1.00 x 10~ =[1.00 x 1077] [OHT]

1.00 x10714 _
—————=1.00 x10 7
1.00 x10

Conc. of hydroxyl ions in water = 1.00 x 1077

[OH] =

PTA — Model question Paper — 4

PTA - wrdlfl aflemsgmer — 4

uggl — 1
¥) oI BEYID 2
F) gD LU LT
o) 33 el oFsLwTen
@) 25 1068 erHHeumsv 75 W06l Bifled o _eiengl
) oiFsfleasmal
@) il wL D &f
&) H20 epeodsammise LlendbsliLGoCuUTgs
F) < By @
) YA IGILfdberd
10. &) S@@owib
. 3 uECHwT
. &) notepad

e L o

[N
N =

uggdl — Il
13. opv@-2: 1555 otemi: 30 WIS wierer @ 26
14. ompve-3: seoum. Gl  ymms0  Lfllonhpsésler
Cursl @oombs  CeULILBeDeVUI) 2 6T GILITIB6IT
O I ILIBSSLILBIIS.  PE  CleULILBIeneVLTIsD
2_ae GTgserT GefelBBLIIBBBESI.

15. oV@-5: 1555 2 6irLl.etemi - 68 (Fjey -1)

16. Dv@-8: 1555 otewr: 119 WTS 1166007 : 114
17. owva-13: ys55 otemr: 195 WIS w.eremr @ 171
18. opv@-15: 1555 otemi: 224 WIS riere0r - 195
19. ov&-18:
2JBemremL_L/ LT Bsomrem1_t1
iﬁ;ﬁ;"&’ﬂ’m&é% 52?@;? o uiflrdBE  Geuefulsd

(WapeimId g8y Bpaan. | OPTHD USILSET 4GID.

. . .| 2 ulflendema 2 _Bml

SO0 G S | Gpnis ot
) STl & EHEVTLD.

BT : BIHHoNND, HeWIenie | 6L&BT : 6T6nl, 2 L 606MIDLIL],

Bmib, 2 Wiy, wyleaml ChTuissit LIBsnausb6lls  Si6v&

20. ov&-20: B)sFmmmy 1B STy Gewib Fifl.

21. ov@&-22: 155E etemr: 327 WIS wieremr - 281

22. ove-10: Kw = [H] [OHT]
Bler eweflGumasd, Ky = 1.00 x 10714
Bflsd emaml reger oweflulst Gandey = 1.00 x 1077
Bfls0 el rrédlsd siweiuier GFne = ?
1.00 x 107 =[1.00 x 10~7] [OH]

-14
[OH] =221 - 100 x 107
1.00 x10

Bfls0 enamlprédlsh owelulen ey = 1.00 x 1077
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10th — Science — PTA Question — 4: Answer Key

PART —III

23. Unit-1:i) a) Moment of a couple
b) Unlike parallel forces
Unit-2:ii) Power of a lens (P) = ,% =-2D

f=— =-05m

24.Unit-5:1)i = 90— 50°= 40°
angle of incident sound (i)= angle of reflected sound (r)
Therefore, Angle of Reflection of sound (r) = 40°

Unit-6 : ii) Nuclear Fission reaction :
92U235+ 0n1 — _%Bal‘” + _,’G.Kr92 + 30111 + Q (energy)
X - 558&141, Y — 35KI’92
25. Unit-7 : i) a) Neutrons  b) atomicity
Unit-8 : ii) TB Pg.no: 122 WTS Guide Pg.no: 111

26. Unit-9: i) TB Pg.no: 135 WTS Guide Pg.no: 122
Unit-11 : ii) a) A & R are correct, R explains the A

27. Unit-7 : i) mass % of carbon = 27.28 = mass of C

mass % of oxygen = 72.73 = mass of O
mass of carbon

no of moles of C = -
atomic mass of carbon

=2728 _ 997 =2
12

no of moles of O =% =454 =4

molecular formula - C,0, (or) 2 CO;
molecular mass =(2 x 12) + (4 X 16) = 88g
Unit-8 :ii) Copper pyrites is the prime ore of copper.
It is concentrated by froth floatation method.
Reason : lighter ores, such as sulphide ores, are
concentrated by this method.
Ex : Copper pyrites (CuFeS,), Zinc blende(Zns)
28. Unit-13: i) TB Pg.no: 198 WTS Guide Pg.no: 165
Unit-15 :ii) TB Pg.no: 227 WTS Guide Pg.no: 189

29. Unit-16 : TB Pg.no: 240  WTS Guide Pg.no: 201

30. Unit-17: i) TB Pg.no: 258 WTS Guide Pg.no: 216
Unit-20 :ii) TB Pg.no: 298 WTS Guide Pg.no: 245

31. Unit-21:1)TB Pg.no: 312 WTS Guide Pg.no: 256
Unit-22 :ii) TB Pg.no: 327 WTS Guide Pg.no: 266
32. Unit-1: i) The power lines which are made up of
metals expands on heating during hot summer,
this makes the lines to hang low.
Unit-4: ii) Inside TB Pg.no: 51(Problem — 6)

uggl — Il
23. Sv@-1: 1) o) @i ewL seIllsir BHBLILIGS BT
&) 1HCYHIT HewFuled CFrUIBVLIBLD FLOLT Benevote)lenFH6iT

Dve-2: i) Geosndlsi Bpst (P) :% =-2D
f=— =-05m
-2
24. opv@p-5: 1) i = 90— 50" =40
115 Cesimsoonii) =e185GYmeriin &G imevond (I)
oteniBeu  @edlulledr erlGYTe I S Cmevond = 40
vG-6: 1) SIBHw LiaTey aisner :
g2Um+ 011' — 56Ba"" + }6Kr92+ 3011l +Q (energy)
X - 5588.141, Y — 3(~;.KI’92

25. opv@-7- 1)) Byl Jreiser =) emibasl B oo
Hv&-8: ) ys55 stemr: 119 WTS  Lr.etemr :115

26. opv&-9: )j555 etemr: 133 WTS wieremr - 125

v@-11:i1) =) A wimb R &, R <yems Ay eledeamsi.

27.996v@- 7: ) @mjLicolsor wlsmmYo=27.28=awmjLicofleor e

ysAementienr pemp Y = 12.713 = oysFeeienr Bleoys
Siueien Hlenm

BITJLIGHT GLOTEOB660T  6TovT6o0Nb6mE = ——— -
STUeT Slgmiedle Hlenm

27.28
= =227=2

12

ybAee CLomeDB6Ie cTenTemiGens = % =454=4

apevéammy o iiir® - C404 (Disvevgl) 2 CO;
apevdsnm Bemm=(2 X 12) + (4 X 16) = 88 &

V-8 1) @Iyl BBeT  BILILIfeT  (pDHBLI

I Y& B BB wpeopiLilsd
DI JUILISBLIIBD|BS. BITT600TLD Gsvrreor
BITDIHDBONTR, — FeODLIE BTGB,  BUIDULPeBULIY

SI_[JUISBLIIBDIoBT.  6T.BN : B  DLIEOTL 610
(CuFeSy), gdmis rilswedn (ZNS)

28.y6v@-13: 1)555 eremi: 195 WTS rr.er6007 : 172

SV&-15: )ys55 oremr: 224 WTS  rr.eremr - 196

29.9/v@&-16: 1555 eremr: 238 WIS Lietemr : 210

225
259

30.9v&-17: )ys55 oremr: 255 WTS 11676007
DV&-20: ) ys55 etemr: 297 WTS  Li.ereo0r

3.oevg-21: yo6s5s e 313 WIS w.erewr = 270
Dv@5-22: 1)ys55 ereor: 327 WTS  wr.etemr - 281

32.96V@-11) 2 GooTdHmIH6NTeL oo 106 HIDLNB6IT
BaTemL_SHEHTELMHIHEITED Qe LT H6 66T SBITTGUOTLDT &
alfleuenL_6uHTed SHTDAITHS O\FHThIEH S 6.

SYv&-4:11) ysHs 2 _enirerenr - Bl ey — 6)
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10th — Science — PTA Question — 4: Answer Key

PART -1V
33A. Unit-1: TB Pg.no: 14  WTS Guide Pg.no:13

33B.Unit-4: i) TB Pg.no: 57 WTS Guide Pg.no:55
Unit-6: ii) Inside TB Pg.no:83

34A.Unit-7:1) TB Pg.no: 104 WTS Guide Pg.no: 102
Unit-9:ii)TB Pg.no: 135 WTS Guide Pg.no: 119

34B.Unit-7:i)a) CaCOs(s)+Heat — CaO(s) + CO2(g) in
thermal decomposition reaction, heat is supplied to
break the bonds. It is a irreversible reaction.
CaCOs(s)+Heat g CaO(s) + CO2(g) in thermal
deomposition reaction, heat is supplied to break the
bonds. And if the reaction is carried out in a closed
vessel, it reaches a chemical equilibrium.

b) NaOHag) + HCl(ag) — NaCl(ag) + H20q)
This reaction is a neutralization reaction.

Reason : reaction of sodium hydroxide with
hydrochloric acid is a typical neutralization
reaction. Here, sodium replaces hydrogen from
hydrochloric acid forming sodium chloride, a
neutral soluble salt.

Unit-11:ii) a) Ethanol, b) Ethanoic acid
¢) sodium salt of ethanoic acid

35A.Unit-12: i) Inside TB Pg.no: 175(Figure —12.1)

Unit-14:ii)a) Phloem transports food. When,
leaves synthesize food, it transports food from
source to sink. On the basis of plants need (or)
season, transfer of food is reversed from sink to
source. Therefore the movement of food in
phloem can be in all direction.

b) Inside TB Pg.n0:205 (‘Do you know’ content)

35B.Unit-18:i) TB Pg.no:272 WTS GuidePg.no:225
Unit-19:ii)Inside Pg.n0:284 WTS GuidePg.no:237
Unit-21:iii)Inside Pg.no:312 WTS GuidePg.no:256

ugad — IV
33A. ov@-1: 1|55 etemr: 14 WIS wietemr - 13

33B.owv@-4: 1) 555 erem: 57 WTS Lieremr : 55
SVG-6: 1) Lys55 2_6n.Lieremi - 82

34A. ove-7: )ysss stemr: 103 WTS  wretemr - 104
Ov&-9: 1) ysas etemr: 132 WTS  wr.ere00r 123

34B. @@ 7i) =) CaCOs(s)+Heat — CaO(s) + CO2(g)
Ol ILFFHenge] allenarseilsy LN6eme6mtl 1L |5 6me6TT
2 LIUSBE& Oeulib SriuGdmpa. DaH @
IenTellened @ LD.
CaCOs(s)+Heat g CaO(s) + CO2(g) in thermal
OaulILFFHengHe)] allensrgeilsy LNememl 1L | & emeTT
2 LUIUSBEG Oeliud SIIUGEBEH. Obhs alener
Qb eI He0a60  HEWL LIGLIBMTeD GV
BoudFaoplemevenil SIEnLU|LD.

<4) NaOHag) + HCl(ag) — NaClaq) + H20()

Clomewemi_ eflemsar [BBBENEVUITESSED 6l6n6mLITELD.
BIIERILD : CFTQUID eWeYBL JT&mF(H LoBmiId emeupL Gyir
&Comfizs SNOVSIHNBSH Boor_ Cuunesr  Xiewenr
BOBVUITSESD  lewemLTGlo. @iy CFmouiD,
L Jegener  emeuil GIrCentfic  DOVSHIHIBHSI
B L6Lss] CFlipps). BoHer aimerous CFmouid
&Conemy®B 616073 BBBIEWEVULITEN  [Bfl6D HeWFUpD 2 _LI]
B BRI,

VG- 11: 1) D)e1bHaMe0, <) 61HHaTuUlSH Sflevid
@) srhHeumuis diblevdalei GFmguid o I

35A. Yv@-12: 1) a5 2 _eiiieremr 172 (- 12.1)

VG-1441) )  LGund  o_coswey Bl SEHIBIEL.
Bemevs6rfish 2_core)y 2_BUSHUITEHLD Gy
ComppenuIeinhs  CHEBLGHNSG  BLSBIIBEIS.
BIUTSHIHT  CHemeusCHBLIND  BTCVOTHBGHBSG — GIBLISYD
2_cisy CHEEL SHIBESI CHHBIITLINSG Bl SSLIIBH|S!.
616015, LBermmuS LT  MOUTS 2 6ooTe)GLIT BTN/
SIDOSSI LISHBEBEGLD LIV HenFH6I60 Bl SBLUIBDBIBS.

@) s 2 _enietent . 202 (2_misendd Cflunor)

35B. @wve-18: 1) yssa eremr 271 WTS  Li.ere00r : 237
DV&-19: ) 555 stemr: 283 WTS wi.etemr : 251
Ov&-21: )yss5 eremr: 313 WTS  rretemr = 270
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10th — Science — PTA Question — 5: Answer Key

PTA Question -

5 Answer key

PART - |
.C) g
. d) all the above
. a) thermal Expansion
. a) ionic
. @) strong affinity to water
. b) remain same
. @) sanguivorous
. ¢) corpus callosum
. C) the centre
10. d) repetitive
11. c) ii and iii
12. c)Windows, LINUX

PART —II

13. Unit-3 : b) Both the assertion and the reason are true but
the reason is not the correct explanation of the assertion
14. Unit-4 : SI unit of consumption of electrical energy is
watt second. Its larger unit is kilowatt hour (kWh).
One kilowatt hour also known as one unit of electrical
energy. One kilowatt hour means that an electric
power of 1000 watt has been utilized for an hour.

O© 00 NOoO OB~ W N -

15. Unit-9 : TB Pg.no: 135 WTS Guide Pg.no: 120
16. Unit-10: TB Pg.no: 154  WTS Guide Pg.no: 134

17. Unit-12 : Glycolysis is the common step in aerobic
and anaerobic pathway. Glycolysis takes place in
cytoplasm of the cell.

18. Unit-14 : TB Pg.no: 215

19. Unit-16 : TB Pg.no: 240

20. Unit-19 : TB Pg.no: 283

21. Unit-21: TB Pg.no: 312 WTS Guide Pg.no: 255

22. Unit-5: TB Pg.no: 71 WTS Guide Pg.no: 73
PART —IlI

23.Unit-1:i)) F=5N, a=5cms? =0.05ms?

F=ma= m:§=i:100kg

0.05
m = 100 kg
Unit-2:ii)h=3cm;u=10cm;v=20cm

Magnification m =

WTS Guide Pg.no: 178
WTS Guide Pg.no: 201
WTS Guide Pg.no: 234

_20_,

10
Magnification m =
h' =2 x 3 =6cm
h'=6cm

24. Unit-4 : TB Pg.no: 56

s|==Is

WTS Guide Pg.no: 53

PTA — Model question Paper —5

PTA — wndlf] allemgsmer — 5

uggl — 1
GurmSswTe el emwsdh CHTHOHBHH 6T1DSHIS-
® ;
) Smel SImEIHHID
3i) QauliLedflsy
S) Sl SSH6iemnLo
o)) Bfler 158 oiFs BHILLID
) @6y wrdfwnrs Rmsbaemen
3l) FTHISGaurrerd
@) @sriuey &GeuTFID
8) emwwHFed
) Weni(BD LBewIBLD QUBLD QLT
. ®) i wipnd iii
®) elewrGLTery, 6dlardserd
ugdl — Il
. BIVG-3:Y) FmBL OBBID BIJRID YD BT
.  yeomed,  BgewIL  FBmbSG — Ffluirer
fe%SB10606V.

S U i i

— O
=

—_
o =

—
w

14. opve-4 Weammmpne pEjaisr S| oeve e’
afpmp. Bser GlLfiu eve BlGevr eurl  ewi(kWh).
@05 BIBUT UL 16wl STETLIHWET B Uf6oiL
eoremTme) Y. P(5 BIECGVT UTL L6l  6TEHTLIGI
1000 UL eorFmyLD 2] 1060l Gl T 5160
BIBILILL (BT6NSHTEHLD.

WTS  Ls.676007 :
WTS  rs.676007 :

124
139

15. 9ve&-9: L55&% elevil: 132
16. 9pvg-10: 1555 otmr: 151
17. OVG-12: @MY FUTFSHBHID  HIIAIOOT

FMFSHBSHLD  CLITSHIUTET  BBILFS]  BloweridHredsrdsrD.
B85 FL G mIsmFSHe0 ool CLIBIBIIS.

18. ov@-14: 11555 etomr: 212 WIS 1r.e00m - 184
19. @w@-16: 1555 cremr: 237 WIS w.etemr : 209
20. v@&-19: 155& etemr: 282 WIS wietemr - 248
21. oyv@-21: 165E etemr: 313 WIS wiereor - 269

22. BIVG-3: L55HS otso: 71 WTS rs.er600r : 75

uggl — 1
23. @ve-1: i) F=5N, a=5cms? =0.05ms?
F=mas m==——=100 kg
a 0.05
m =100 kg
eve-2:11)) h=3cm;u=10cm;v=20cm

o BiOLmBsD M=2=22=2
© © Tu 10

. Lo n'
2 HUOLmBSHD M = "
h' =2 x3=6cm
h' =6cm

24. &4 Lj5HHS 6Tevi: 57 WTS L6607 :53
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10th — Science — PTA Question — 5: Answer Key

25. Unit-6 : i) mass number =226 —4 =222
atomic number =88 -2 = 86
Unit-6 : ii) Mass defect in the reaction (m) = 1 kg
Velocity of light (c) =3 x 108 m s
By Einstein’s equation,
Energy released E = mc?
So, E =1x (3 x 10%)2=9 x 10 J (or) 0.9 x 107 J

26. Unit-7 : i) TB Pg.no: 104 WTS Guide Pg.no: 101
Unit-8 : ii) b) A is correct, R is Wrong.

27.Unit-11:0)ii)iii) TB Pg.no:171WTS Guide Pg.no: 145

28. Unit-12: 1) TB Pg.no: 185 WTS Guide Pg.no: 155
Unit-15 :ii) TB Pg.no: 227 WTS Guide Pg.no: 189

29. Unit-17 : TB Pg.no: 258  WTS Guide Pg.no: 217

30. Unit-18: i) TB Pg.no: 272 WTS Guide Pg.no: 225
Unit-19:ii)a),b) TB Pg.n0:283WTS Guide Pg.no: 233

31. Unit-20:i)TB Pg.no: 298 WTS Guide Pg.no: 247

32. Unit-9: i) Inside TB Pg.no: 128
Impact of Temperature : Solubility of CO, in water
decreases with the increase in temperature.

Impact of Pressure : Solubility of CO2 in water
increases with the increase in Pressure.

ii) Pure water does not conduct electricity. This is because
of the absence of ions in it . It can conduct electricity ,
when we add a pinch of salt to it.

PART -1V
33A. Unit-1: i) WTS Guide Pg.no:12(Newton’s 2™ law)

Unit-4: ii) Voltmeter is used to measure the potential
difference. It is connect in parallel in a circuit.

33B.Unit-5: i) Inside TB Pg.no:68 (Problem-5)
ii) Wavelength 1) =3000 A = 3000 x 10~1m
velocity of light ©) =3 x 108ms?!
frequency(v) :%
3x108  3x108
T 3000%10~10  3x10~7
frequency(v) = 10°Hz
Unit-6: iii)TB Pg.no: 89  WTS Guide Pg.no: 89

34A.Unit-7:1) TB Pg.no: 103  WTS Guide Pg.no: 101
Unit-10:ii) Inside TB Pg.no: 146

25. yev@-:6 1) wemm ereoir = 226 — 4 = 222
oy oteoir = 88 -2 = 86
DV@-6: 1) eaflmenleGurgy Bleomeuap (M) = 1 &)
oafiufsr BBty (€) =3 x 108 m st
meiTeroles Henm QyBmed Feur® E = mc?
eteBeu, E =1x (3 x 108)2 =9 x 10'® J (or) 0.9 x 10%" ]

26. opve-7: )ysss etemr: 103 WTS w.eremr - 103
V-8 i)=y) A 5, R seum

27.oy6v@-11: )il )ys55 eremi:168 WTS  Lieremr - 151

28.96v@-12: 1)1j55% eteor: 182 WIS wieremr : 162
Sv&-15: )yss55 etemr: 225 WTS 1r.e16007 : 196

29.9/v@-17: 1155% stemi: 256 WIS Lietemr : 227

30.9v@-18: )55 stemr: 271 WTS wi.etemr : 237
Dv&-19: )ys55 etemr: 282 WTS  i.e600m : 247

31.9060&-20: 11555 etemr: 297 WIS wi.eteor : 260

N2.v@-9: 1) 1sss 2 eiriteremr 125
Glsuln yplsmeviLedr  HiTbBLD Bfledr  GleuL ILBlsmevemILI
o flbeptd Crsl CO2 aflar BengHmer @HeBBmsbI.
D WSBSST BN : [Bfsi] AUYISHDD BB bG5LD
Gy COy 6Xieor BemgHesr i fibB)3m!.

igmu BF Wersmgn &L ssmdimen. @F0 DuieissT
BVevrH6s5 BFHBSHS HTJewild. [BTD @i FL lpend 2_LlswL
CHi&OCLITSI D& TFTIHNS BLS5 (UPIQUILD.

ugsd — IV
33A. wiev@-11)WTS 11617 :12 (Bluyr L eoflsor 20 &)
Dyv@-4: 1) ieieniaps s Coumyimi ipemenr  Siee(BiD
awme  Couredl. WL  1OeiHEmAe0  BFemeor
LibB@ementi e BemenrdhdCouemr(BLb.
33B.9opv@-5: 1) yss85 2 eiiierenr - 69(&jey — 3)
i) ewmsvsms A) 3000 A = 3000 x 107108
pelilsir Hews@eustd ) =3 X 108 ms?
BTOB68T( V)Z%
3x108  3x108

~3000x10710  3x10~7
SFTGeuswi( v)= 10°Hz

Dv@-6: i) yss5 erewr: 88 WTS  Liereor : 91

34A. ov&-7: ysss etemr: 103 WTS  wietewr - 103

V@G- 10: i) o555 2 _eir.eremr 144
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10th — Science — PTA Question — 5: Answer Key

34B.Unit-9:i) Solubility = —ossofthesolute ", 45

Mass of the solvent
=22 x100= 209
50
Unit-11:ii) Inside TB Pg.no: 168 (Figure — 11.3)

35A.Unit-13:i)) TB Pg.no:198  WTS GuidePg.no:165
Unit-14:ii) TB Pg.n0:215 WTS GuidePg.no: 178

35B.Unit-21:i) TB Pg.n0:313  WTS GuidePg.no:259
Unit-22:ii) Inside TB Pg.no: 322

HmyOLUTHee Henm

34B. @mwves-91) sengsmer = X 100

SeILILITERN6T Blenms
=2 x100= 204
50
opve-11: 1) 15585 2 eiietemr . 164 (Lu_b-11.3)

172
184

35A. Bev@-13: 1) 1555 eremr: 195 WTS  Li.erem7
SV&-14i1) 1555 eremr: 212 WIS Lietemr :

35B. @eve@-21: 1) o655 eremi: 314 WIS rreremr - 273
DVG-22: ) 1555 2_ev.il.etemr - 322
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10th — Science — PTA Question — 6: Answer Key

PTA Question -

6 Answer key

PART — |
1.d) 1dyne (F=ma=1gcms? = ldyne)
2. b) an ideal gas

3.b) 20 kHz

4. ¢) homo atomic molecule

5. ) A-ii, B-iii, C-iv, D-i

6.v) CH, < CH, = CH, < CH = CH
7. ) root hair

8. b) Insulin

9. d) Charles Darwin

10. c) Carcinoma

11. a) Tidal energy
12. ¢) file
PART Il
13. Unit-2 :
M
B
i B!.
2F A i Al o
N
14. Unit-3 : TB Pg.no: 38 (Problem-1)

15. Unit-6 : TB Pg.no: 88 WTS Guide Pg.no: 82

16. Unit-10 : TB Pg.no: 154 WTS Guide Pg.no: 133

17. Unit-13 : TB Pg.no: 198 WTS Guide Pg.no: 164

18.
19.
20.
21.

Unit-15 : Inside TB Pg.no: 223

Unit-17 : Inside Pg.no: 258 WTS Guide Pg.no:215
Unit-20 : TB Pg.no: 298 WTS Guide Pg.no: 245
Unit-22 : TB Pg.no: 327 WTS Guide Pg.no: 266

22. Unit-8 : i) Hydrogen element belongs to 1% group.
and its covalent radius value is 0.374°. Chemical

symbol of Hydrogen is H and hydrogen molecule is Hy.
ii) Aluminium is a metal belongs to boron family.
It reduces iron oxide into iron.
Fe,05; + 2Al —» 2 Fe + Al,05 +Heat
Aluminium is used to make household utensils.

PTA — Model question Paper — 6

PTA — wndlf] allemggmer — 6
uggl — 1

1. ) 1 enLer (F=ma=1gcms?=1 enteir)
2. &) BevedluledL] eumu]

3. &) 20 kHz

4 B) 955 SEm WeBSI

5. @) A-ii, B-iii, C-iv, D-i

6. @ CH, <CH, =CH, <CH=CH

7. o) GajsHgmel

8. o) Reniaededn

9. ®) &meverd Lmieiledr

10. &) &mjdlGsurmiom

1. o) @& <Wbmed
12. &) Gasmmiiy

uggl — Il
13. S6v&h-2:

14. ov@-3: 6HH otemr: 39 (SHjey — 1)

15. opv@-6: 11555 otemi: 87 WTS Lieremr : 88

16. ov@-10: 1555 oo 151 WIS rreteo0r : 138
17. owva-13: yss55 etemr: 195 WIS w.eremr - 171
18. @yevegs-15: Inside TB Pg.no: 220

19. owva-17: o655 otewr: 255 WIS wieremr : 225
20. OVG-20: 1555 oo 297 WIS wretemr : 259
21. YV@-22: 155% etewr: 327 WIS wrereor - 281
22. V-8 1) maml el 1-ag OHTGHIE  SHebiD.

sailameni] iy WwHiy 037 A’Gsrtem  Seiolb.
maml yegeflenn Geugd@miuik- H,
mEUBL_ e psudbaapien GBiuih - Ha.

i) Gumgmedr GEI0USMS CFIHHEI
@I pHMFML SHOUTS RBHSHS MBS
Fe,03 + 2Al1 » 2 Fe+ Al,03+ Geulin oyBmsd
sifleflwb, Femwwed UTSHATHST CFUIMNSBE
LWISTLI(H&SIBG.

wtsteam100@gmail.com

WWW.waytosuccess.org



mailto:wtsteam100@gmail.com
http://www.waytosuccess.org/

10th — Science — PTA Question — 6: Answer Key

PART —I11
23. i) Unit-3: K = (F + 460) x °/q
= (80 + 460) x °/g = 300 K
ii) Unit-4: TB Pg.no: 57 WTS Guide Pg.no: 57
24. Unit-5 : i) Inside Pg.no: 71 WTS Guide Pg.no: 71
Unit-6 : ii) a) Hydrogen bomb
b) effective functioning of heart
25. Unit-9:i) TB Pg.no: 135 WTS Guide Pg.no: 123
i) @) Unit-10 : TB Pg.no: 153 WTS Guide Pg.no: 129
b) Unit-10 : TB Pg.no: 146
Rate of the chemical reaction increases on raising the
temperature. Because adding heat to the reactants

provides energy to break more bonds and thus speed
up the reaction.

26. Unit-11:1) TB Pg.no: 171  WTS Guide Pg.no: 144
Unit-10: ii) TB Pg.no: 154 WTS Guide Pg.no: 133

27.Unit-11:

Compound A — Ethanol having Colourless liquid &
burning taste

Vapour of Ethanol is passed over heated copper
573K, it is dehydrogenated to acetaldehyde

o CH.CHO + H.1

3K : :

Acetadehyde

(fH‘(IH:()H
Ethanol

2/

Copper is used as catalyst.

28. Unit-12 : TB Pg.no: 176 (Figure — 12.2)

29.1) Unit-13: TB Pg.no: 198 WTS Guide Pg.no: 163
ii)Unit-14 : Rh factor was discovered by Landsteiner
and Wiener. It is named after Rhesus monkey.

30. Unit-17: i) TB Pg.no: 258 WTS Guide Pg.no: 216
Unit-20 :ii) TB Pg.no: 298 WTS Guide Pg.no: 245

31. Unit-19: TB Pg.no: 283  WTS Guide Pg.no: 235

32. Unit-1: i) Inside Pg.no: 12 (Problem — 3)
Unit-2: ii) Least distance of distinct vision of a human

is25cm.
PART -IV
33A. Unit-2: i) TB Pg.no: 30  WTS Guide Pg.no: 26
Unit-4:
i) a) Total resistance of the circuit=20 Q + 4 Q

=24 Q
b) The current through the circuit = % = % =0.254
c) The potential difference across the resistance
=025x4=1V

uggl — 1l
23. i) a3 K = (F + 460) x °/g
= (80 + 460) x °/y = 300 K
il ovg-4 1555 oe: 58  WTS Lierewr : 58
24. opvg-5: 1) ysH5s e 71 WTS 1ieremr -
DVG-6: 1) 2y wapL Jegeir 6B
) BBUISHme FJTs GIFUIOLIL
25. opve-9: 1) ysss etemi: 133 WTS w.eremr : 127
il) @) oyv@-10 : 1555 stemr: 150 WTS r.616007 - 134
<) HVG-10 : L55% oleor: 144
Gl plenevenus 2_unisHNbELITSI Coudlerleneo fer
Coucs1d BB HBIS. 67 Gleote0fe»
e ewerLIB G T B 6T ETBL 60T Gl 156m%
SYBBIIISTD HPIB  LilensoriLjBemen 20l SHELD
YMBeNEV  UPBIG BB, LBV  Geblelemennsileor
Coumstd BB fHBIBS).
26. oyv@-11: ) &85 etemr: 167 WIS Lieremr -
Dv&-10: \)555 etemr: 151 WTS  Lierem07 -
- GIBSENSD By Beud
LOBmID  61fF6M6)  GLBITE0N_ ).
GTSBEOTTEI60T Yo 573K Gl ILBlsmeVIL sV,

GOLpwI L. STOPSHOT  10HI WD JEISIT  [HBLD
[BEDL LB DHF L TeDpenaBB 2 (56UTHIBS!.

73

150
138

27.9v&-11: Csjwoo A

CH,CH,OH

6T HSE0TMED

CH,CHO + H,1
214l Lmedigemamy

Al
573K
STOTD efmenyssluns LwWeLGS BS.

28. v@&-12 : L$SH& eremi: 173 (UL - 12.2)

29. \)yovep-13: 1555 otemr: 195 WIS 1ier6007 -
i) oeve-14: Gewn erowesny  wimns ey Rh
STJeilenuLis Bl AbbHeory.  fFD Do IBIEemeor
(Rhesus monkey) wussiiiggsligmsd Rh - @myemf  steomy
SYDIPSBLIIBBIDS/.

170

30.96v8-17: ) y55% eremr: 255 TS wieremr : 225
SV&-20: )ys55 eremr: 297 WTS  Lretemr : 259

3l.ova-19: 11555 otemi: 283 WIS 1r.ere0r - 249

N.ov@-1: 1) 1555 e : 12 (Fjey — 3)
DIVG-2:1) CLIgIowT® 106075 Bevieooiedl GBe1sym
B Aient 10FFs CBmemeve)y 0Bl 25 .15

ugd — IV
33A. owve-2: 1) ysss erer: 30 WTS Lieremir : 27
V&4 :
i) @) WBersmpisnr Glonss Wagsm =20 Q + 4 Q
=24 Q

=) spled Lm0 L ib =% = % =0254

8) s wirEBliar SpEes IersrupsHs
Coupr = 0.25x4=1V
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33B.Unit-3:i) TB Pg.no: 40 WTS Guide Pg.no:40
Unit-5:ii) TB Pg.no: 71 WTS Guide Pg.no:72
Unit-6:iii) TB Pg.no: 82

34A. Unit-7:i) TB Pg.no: 104 WTS Guide Pg.no: 101
Unit-11: ii) TB Pg.no: 171 WTS Guide Pg.no: 144

34B.Unit-8: i)
a)Top to bottom, atomic radius increases.
Reason: Due to increase in valence shell number.
Left to Right, atomic radius decreases.

Reason : valence shell number remains same,
but number of protons increases, increasing
the attraction of protons over electrons. Thus,
atomic radius shrinks.

b) Down the group, electron affinity decreases.

Reason : Atomic radius increases and so,
valence electrons are loosely bound. Therefore
electron affinity decreases.

Left to Right, electron affinity increases.

Reason : Atomic radius decreases and so,
electron affinity increases.

) Left to right, ionisation energy increases.

Reason : As atomic radius decreases, more
energy is required to remove the electrons as
we go from left to right.

Down the group, ionisation energy decreases.
Reason : Atomic radius increases and so,
valence electrons are loosely bound. Less
energy is required to remove the electrons as
we go down the group.

Unit-10: ii) Manganese dioxide acts as a catalyst and
increases the reaction rate of the given reaction.

35A.Unit-16:i) Parthenocarpic fruits — The seedless
fruits developed without fertilization that are
induced by external application of auxins.
E.g. Watermelon, Tomato.

Unit-15:ii)TB Pg.no: 228 WTS Guide Pg.no: 192

35B.Unit-18:1) TB Pg.no: 272 WTS Guide Pg.no: 225
Unit-21:ii) TB Pg.no: 313 WTS Guide Pg.no: 258

33B. opva-3: i) ysss stemi: 41 WTS  Lieremr : 41
i) wovg-5: 155 eremr: 71 WIS wi.etemr : 74
iil) opva-6: G55 etewr: 81

34A. ov@-7: 1) o555 erem: 103 WTS  Li.eremr
Dev@-11: ) 1555 eremr: 167 WTS  Li.er6007

103
150

34B. smve-8: 1) 9

SI) Coebshg), Syrs SEm b EEGEEDE.
BIIHILD : Glousibml (B 676007 DIFHBIIIISS.
QLiEEg aewTE SEm 0 [HOnEnE.
BIJeILD :  CleuelGIml (5 616007  IOMBITSLI,  6T60M6RILD,
LGy 1_meiiberlen  6TevTenNbens BB UNIBITED,
LSy L_meor LOmILD 6T6VBL JT60H 6B
GewL e iy eflensF BB FSHS5I, Sepiesleo
2_(56)6T6Y  F(IBIBISH BB,

9b) Cuedmhgl, HYns TEELITET LD |Sonsns.

BIJeTD Saw  YLb BB IISBIT6D,
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